MATH 3083 Linear Algebra (Luecking) NAME:
(Please print clearly)

First Exam (solutions) February 14, 2024
Ty 4+ 205+ 13— T4 =2
1. For this system of equations: 1 + 2x5 + 2x3 + 324 =4
3r1 + 615 + 43+ 14 =28

(a) Write down its augmented matrix.

(b) Using only elementary row operations convert the augmented matrix to reduced

echelon form. Please indicate what EROs you are performing.
(c) State which variables are leading variables. State which variables are free variables.

(d) Find all solutions of the system. Express your solutions (if any) as column vectors

with parameters substituted for the free variables .
Ans:

— |0 0 1 42

Ri—R, (1 2 0 =50
Ri—=Ry o oo 0]o0

1 21 —112 Ro_R (1 21 —-1]2
@ [1 22 3[4 ®) — o 01 42
36 4 18 Rs—=3Ry o0 0 1 4|2

(c) 7 and z3 are lead variables; xo and x4 are free.

(d) From the reduced form: LT LB L4 N 1 o + :1:4,
$3+4$4:2 1;3:2_4x4
Set ro = o and x4 = [, then solve for the others in terms of o and j:
I —2a+ 50
? - 9 a45 , all a, B in R.
3 J—
T4 16

2. For each of the following augmented matrices, convert it to echelon form using ezactly
one elementary row operation, and then determine whether the corresponding system

of equations has no solutions, one solution, or infinitely many solutions.

(1 2 3| 1) (1 2 3| 1) 00 00 1 3 414
R3s—2R, Ri1<R3
@ (o1 43 25101 4/3|mo1ol3] 250103
(2 4 73] Lo 0 11} 1 3 44 00 00
(1 3 5| 7) (1 3 5|7 1 0 4 1 0 44
@ o1 12 225 o 1 1 2|@ o2 5[4 2% 01 22
L0 2 2|5 Lo 0 0] 1) 00 1|0 00 10
Number of solutions: (a) one (b) infinitely many (c) none (d) one
Don’t write
in this box




2 1

3. For the matrices A = -1 , B=11 01|, C = b3 and
2 1 2 1 2
3 2
1= [ (1) (1) ] , find the following. When one is not possible, write ‘not possible’.
(a) CA+ BT (b) BA (c) C—2A
(d) ¢t 4 C? (e) AC (f) B(C —1)
7T 27 2 1 3 9 3 10
Ans: (a) \515]+[102]_[61 7]
(4 —1 4
(by |1 -1 1
7 -1 7

(c) not possible
1 1 4 9 5 10
(d) [3 2]*[3 7] - [6 9]

(e) not possible

2 1 0 3 [1 7]
f 1 0 =10 3
ool () [o

1 2 0
4. For the matrix A= |1 3 —2], find A™' using elementary row operations.
2 4 1
12 0|1 00) Rp—Rr, (1 2 O 1 00
Ans 1 3 =210 1 0 01 -2} -1 10
2 4 1]0 0 1)m—2k o0 1]-2 01
1 2 0 1 0 0 1 0o 11 -2 —4
Ry + 2R3 Ry — 2R,
- 5101 0 -5 1 2| — 4 0] -5 1 2 1.
0O 0 1|-1 01 0O 0 1] =2 0 1
1 -2 —4
SoA'=|-5 1 2
-2 0 1

Don’t write
in this box




B
5. Given partitioned matrices A = (A4; | Ag) and B = [Bl] , satisfying
2

4 0 11
AlBl = -3 2 and AQBQ = 2 3 y
4 -1 4 6

answer the following:

(a) How many rows does A have?

Ans: 3, the same as the number of rows of A1B; AND AyBs.

(b) How many columns does B have?

Ans: 2, the same as the number of columns of A;B; and Ay Bs.

(c) Find AB.
5 1
Ans: AB:A1B1+AQBQ = -1 5
8 5
6. Find the following determinants. Please produce completely simplified numerical results.
9 5 7 =8 4 7 —12 2 2 3 00
2 2 0 1 0 2 8 0 1 3 00
I I B B s 9 93 © 17 1 31
11 —-16 10 9 0 0 2 0 3 -1 4 2

Ans: (a) Two identical rows, so the determinant is 0.

(b) Using cofactors of the last row, then cofactors of the second row, this determinant

18

o

4 2

—2 —2(2) ‘ - 3' = —4(12 — 10) = 8.

CNCIEN
w o N
I

ot

(c) This determinant equals the product of the upper-left and lower-right determi-

nants:
2 3 3 1
1 3‘-’4 2'—(6—3)(6—4)—6.

Don’t write
in this box




